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a1 657 7:00 7:09 714
]2 710 719 724
33 727 7:30 7:39 744
g8 4 740 749 754
5 TAT 7:50 7:59 804
6 802 805 814 819
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Fai 1| 845 | B=om» 858 9.01 910 915
Fgg 2| 920 @EEOH 933 9:36 9:45 9:50
TG 3 | 1000 BEDH 1013 1016 1025 10:30
THG 4 | 1040 BBOH 1053 1056 1105 11:10
THG5 || 1120 BEOH 1133 1136 1145 1150
%1 | 1300 BsmOH 1313 1316 1325 1330
T% 2| 1330 BEDH 1343 1346 1355 1400
7% 3| 1400 BEEOHF | 1413 | 1416 1425 1430
T% 4| 1430 BEDOH 1443 14146 1455 1500
% 5| 1500 BsEOH 1513 1516 1525 1530
T% 6 | 1530 BsEOH 1543 1546 1555 1600
T% 7| 1600 BzmOH 1613 1616 1625 1630
T% 8 || 1630 BEMH 1643 1646 1655 1700
% 9O 1700 BEDH 1713 1716 1725 1730
T 10| 1730 EEOH 1743 1746 1755 1800
w1 1745 [EEDH 1758 1801 1810 1815
®m2 | 1815 BEEox» 1828 | 1831 1840 1845
®3 || 1830 K=ok 1843 1846 1855 1900
®4 | 1900 EEOH 1913 1916 1925 1930
"5 | 1930 KEEOH 1943 1946 1955 2000
®6 || 2000 EEOH 2013 2016 2025 20:30
®7 | 2030 EEOH 2043 2046 2055  21:00

®8 || 21:00 BEOH BEOH BEOH
®O | 21:30 BEOH BEOH  BEOH




